| N of associated (recoToSim) duplicate tracks vs hit |

[N of associated (recoToSim) tracks vs hit_]

N of reco track vs hit

o Te} o
D 0 N o [ I
= [ 7]
> > R (o]
=3 ] = -
© 4O x o) .. O
lo = N8 2 —
© = — (=% — <
& ] x 5 i ]
Jo _W g S g
& 19 g | -1y
1o R o ..o
~ % 3 =1
g g
18 1< M m -
3 3 -- o
Jo H :
N @ a
-0 8 e -d<
— 3 j 3 A
g f g
g 1 g
= , = i , , 2 i , ? mee
o o £ o <) o c 5 (=] o =) °
— = 3 — — — z — - —
soel aredidnp L= s»oen areondnp oney L sxoen ereandnp oney
o o
© 0
Cs os
0 O e} ['e]
..... ) 42 > > )
o % o © ™~ <
| ~ -
o -_o [3]
N 8 Jo 2
..... L0 Ju s =%
x
o 0 40g
R o | ol kR g
oo
PR Q| kA kL T~
™~ Qo000 ™~
J R E k)
~ | <SS ~
s} QD) Ir}
1o LaaaE o -~
Jo gudo ©©
[ 1=
..... o it
2] el
QD °
R S
5 S 5
1OBUU Syoel) axey syoel axey
S 1]
L
S o T T N o © n 2
= . . [} o
: : > >
0 : : k) ™3 >
# N oo x T o
H H NS o X
3 4 : : 5 — o
: : g 0 M g
. . 3 z
o T s o 3 £ 2 ©
~ g L R < 2
. H 4 [Te)
o £ 35
N q -a- =1 g R £ <
[« . £ E
2 g _ _ ~ | \
. 2 o
q + + uld g — g * o~
o . . £ <
— N H 3 g —
. . 2 g
. . 3 o H
1 1 g 2 1
30 = rad 4 8 = rad
5 S s S S 5
L syoen enn oney L] sxyoenenn oney
o n o
< T N o [4) =1
< : EY £y
ki H K o [}
o Q11 . o~ =
S , R3S 2 o
o ( : 5 a
O : 3
. Q
: Jwo 8
0 — _ = ©
g] r o
[
o 3
~ S = 3 <
X )
It} = by o 7
— g ; g H |
x L Lo x x o~
+
o “ 1
S . o ° —
8 H ] 3] L
Ho = Lo 2 £ Lo
] 5 > S S ]
° z < P > =
syoeln syoen oney L syoen syoen oley

track 3D layers

track 3D layers

track 3D layers

track 3D layers



	Contents
	Page 1


